= CCHBRL S —LHK A Y F 2T 5 (022FFEANFAE)
%A A O EE — SR . S N S A i
= [ % Al E: Al E: Al E:
GCB 1 W2 e 15 15 1
= DA IERE T WA % 60 60 1
= BFHA ] W B 30 30 2
DU Ea—F YT T~ 1 W iz 60 60 4
AT KREE T WA fiis 5 60 60 4
TAY RN W iz 60 60 4
FeBTTT v A WA T 30 30 2
F=LTa s T I K] % T 60 60 1
PaRFNVA=F/ A ANNE/E 23| WA T 60 60 4
= B IERET WA fis 60 60 1
F=LTHA WA T 30 30 2
AV Ea—4 )T T —1 WA fis 60 60 1
AT LEKF WA fis5 60 60 4
TAAY AL WA fis 60 60 1
FeRTTT 4w AT WA T 30 30 2
F—LT 0 s T 7 WA T 60 60 1
LanF NVA=E A AN - I\ WA T 60 60 4
GCB I WA fis 15 15 1
=T —=FT 7 Fx 1 W2 T 90 90 6
F=LTa s 7 IS % T 90 90 6
F=LTu s SIS WA T 90 90 6
T BEFIEH T W i 30 30 2
PESCHRE 1 WA fi= 5 30 30 2
CGHEf 1 WA e 30 30 2
4= IR T WA e 60 60 1
F=LT—=%F 7 Fx 1 WA 7 90 90 6
FaARE N A=F A AN A W2 T 90 90 6
FenFurT I IIEAN WA T 90 90 6
7= DS %) T 30 30 2
PSR T WA fiLs 30 30 2
CGAam T WA fi= 5 30 30 2
47— DA 1T WA ] 60 60 1
ST —=%7 7 Fx 1 WA T 90 90 6
F—=hTas7 I IEKI] W FEH 90 90 2
F=RTn s TS EE WA e 90 90 2
—LBE%E 1 WA FH 90 90 2
F=hTr /) mnv—1 WA THE 60 60 4
F—hT—FT I F ¥V WA HE 90 90 6
F—ATn s T v EEI WA eS| 90 90 2
F—hTur g3 I EEN WA FH 90 90 2
77— AP WA E 90 90 2
F—hT 7 av—1 pivil THE 60 60 4
Xy VT TV WA T 30 30 2
AR E T WA i 60 60 4
AR 1 WA eS| 90 90 2
AT ) £ T W FH 90 90 2
AR IV WA ES 90 90 2
BV R AER WA i s 30 30 2
AR 1 WA T 60 60 4
A T WA T 90 90 6
AEHIE D WA FH 90 90 2
A il {100 W FH 90 90 2
AHEHIEIV WA ES 90 90 2
G ESERIN WA T 60 60 4
FLErTF—vayr WA T 15 15 1
ARG 435 420 435 420 420 450 420 435 3435 175
AEA 855 855 870 855 3435




=2 s CCHITRICCEE WY ¥ a2 T b (20224 FEAZ/E)
= Al 1 Al 7 Al 1 Al 1
GCB I VIR e 15 15 1
FHLEE 1 WA F 90 90 2
PR A 1 W it 60 60 4
Ty IR T WA E] 90 90 2
TR WA FEH 60 60 1
CGill 1 LH8E 1 % T 60 60 4
FRIFTE 1 WA Al 30 30 2
FTHERE 1 % e 30 30 2
FHLEE T WA FEH 90 90 2
BURERBL % T 60 60 4
T LR WA FEH 90 90 2
AR i\ WA F 60 60 1
CGiil {1 3Rt 1T WA B 60 60 4
ES Al % fiiE 30 30 2
SEATELHE T WA Al 30 30 2
GCB I WA = 15 15 1
6T 7 Juo—1 WA HE 60 60 4
CGYESLHIEA T WA FH 60 60 1
CGIES I A TT WA FEH 60 60 1
aVRYy b % i 30 30 2
HRCGHIE T WA e 90 90 6
7 =7 MfET % T 60 60 4
AEmEE 1 WA FEH 60 60 1
77 /my—I WA i 60 60 4
COAE il {EATIT WA FEH 60 60 1
CGAESh il EATV % FEH 60 60 1
2RV y M WA BE 30 30 2
B CGHIE T % T 90 90 6
T 77 MEET WA BE 60 60 4
AW WA F 60 60 1
RN D % FEH 60 60 1
A A—VHHE 1 WA FEH 120 120 3
677/ mP—II WA BE 60 60 4
CGIE I B I WA HE 90 90 6
COAF il {FB IT WA FH 90 90 2
Tyt IS MR FEH 60 60 1
A A—VEET WA FH 120 120 3
Xy VT THA WA T 30 30 2
6T ) nP—IV x| T 60 60 4
CGIE b il {EBIIT WA HE 90 90 6
COAF i il {EBIV WA e 90 90 2
LIRS 1 WA T 60 60 4
A T WA BHE 60 60 4
TR T WAL FEH 90 90 2
AR R WA FH 90 90 2
ABVHT = 1 % S 60 60 1
Wt I 1E 1 WA BE 60 60 4
BLIERS 1T WA T 60 60 4
AEERINE T WA BE 60 60 4
AR WA FEH 90 90 2
AR WA e 90 90 2
2ECHT =71 WA =8 60 60 1
et 1 1T WA #HE 60 60 4
AR NG 435 420 435 420 420 450 420 420 3420 142
AL 855 855 870 840 3420




